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Vol =
FER N E
T4 | FE) i b X HERE RO A TR
TSy « TfE - FER B {7 ¥ & & # A bl A iR
) | & =X 1 46, 021, 341
LT = 1 34, 399, 200
PEHI L (ICT) = 1 6,379, 400 |#@HI (ICT) 500 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
A
TR ZE AR HI (ICT) 5, 300 m3
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
FEHA O-27) 1 X
+1 &850, 000m3ATH ;
P v T = 1 28,019, 800 | b4 EM; 1 X
0 CaBl- EHIRY £5Te) ;
¥ LWLy 1 2
LR L 2 1 250, 200
fiA T 2 1 250,200 |9E% 100 m2
EZ T 100m2LL F300m2AT ;
FRIE D T = 1 404, 600
FR[E 67 ry) T = 1 404,600 |EEEA 20 £
2t (BHAERERD BEAM ;
R T = 1 1, 355, 370
ERLL R T = 1 16,810 | REEELIE 100 m2
HEMEL ;
TA7 7 Ml T X 1 1,338,560 | @M (BE - BRI D) 200 m2
A7y 7/ RC-40 f VY JE 150mm ;
R (HEGE - BRI ) 300 m2
RIE TR M-40 {1 Y /E 100mm ;
=)@ (§E - ) 500 m2
AR EET 22 (20) &H%EE 50mm 3. Omid ;
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s Sefe =
FEAENGRE
T4 | FE) b X HERE b A T
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
HEYE T = 1 129, 300
s EEE L T = 1 82,160 |av))—MEEWHEUE L 10 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 1 47,140 | BoEM 10 m3
/) -k (BERR)
RISy 10 m3
20—k (SRR
AT = 1 262, 595
PRARBRAR T2 = 1 262,595 | XA XA 500 m2
%A ;
BRAREE H 500 m2
SEFEFEA 72 500 m2
PRARR AT E 10 m3
WLy 7 m3
r (- K2 2E)
WLy 3 m3
7 IRER)
SN AL T =Y 1 488, 376
IEALBREE T Y 1 488,376 |JLAfEE 1 =
A Y 1 8,731, 700
TEHERKT Y 1 8,299, 600 | T3 HEKK+ 1 2V
(F%i&)
TEHEREL 1 2V
()
AR T 7 1 432,100 | 2205 E L EE 1 =
[ERANE Xy = 1 46, 021, 341
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R PERE
T4 | B R X HERE R AR IS T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
iR # 2V 1 3, 397, 000
e Tre: X 1 914, 000
EsZREgiis ¢ 2V 1 598, 000 | YAFAFIHIEY (ICT) 1 Ey
BUGBREIUEL (REH L) 2V 1 316, 000
sty (R L) 2V 1 2, 483, 000
ol T 2V 1 49, 418, 341
e R E20 1 9, 816, 000
T AT 2V 1 67, 406, 118
— e PR E20 1 8, 563, 882
N E20 1 75, 970, 000
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Vol =
FER N E
T4 | FE) i b X HERE RO A TR
TSy « TfE - FER B {7 ¥ & & # A bl A iR
) | & =X 1 5,052, 777
LT = 1 1,334, 172
HRHEI T = 1 113,760 |#EH! 90 m3
T EROASN OB /NS (BEHE)
Bt = 1 445,614 | BEIR (BLt8) Bk 60 m3
2. 5mPL 4. OmARTi ;
TREE 70 m3
Rkt A = 1 39, 123 | VEmEE (8] 1:50) 30 m2
BRI v+ R O + kit
LRI (B 1350) 30 m2
T i S O I BRI
P v T = 1 735, 675 | Wb EN 1 X
0 CaBl- EHIRY £5Te) ;
¥ LWLy 1 2
LR L 2 1 2,931, 750
avy)=b7" ny) T GELE7 vy /3E) =X 1 2,931, 750 |BlGFT/ A ka2 s) -} 1 E10
18-8-40 (& 47) L=11. 6m H=0. 35m W=0. 3m ;
W7 ny R 220 m2
2507 ;
HEE L = 1 130, 720
REVEITUE L T = 1 82,160 |av/))-MEEMEUE L 10 m3
HAEEY Bl T
TR AL T = 1 48,560 |BOEMR 10 m3
/)= (AT
By 10 m3
/) - bk BEA%)
LEFEAET 2 1 262, 595
PARBRAR T2 2 1 262,595 | {&kA AT 500 m2
XA
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s foAs =
FEAENGRE
T4 | B8 b X HERE HRbHE A T
TEHX4y « Tfd - FER B Az W B & #A i il A BN
BRAREE H 500 m2
SEFEFEA 72 500 m2
PRARR T E 10 m3
WLy 7 m3
r (- K2 2E)
WLy 3 m3
71 (BRER)
SN AL T =Y 1 348, 840
IEALBREE T Y 1 348,840 |hnaEE 1 =
A Y 1 44, 700
AEEHE T Y 1 44,700 | 220 E L E E 1 =
[ERAE Xy = 1 5,052, 777
IR 2 1 623, 000
B (FEHL) = 1 623, 000
T = 1 5,675, 777
Bl gy 2 1 2, 496, 000
T =5l = 1 8,171, 777
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